Make a fast (unlabeled) plot of the Position vs Time data below 

	Time ( s )
	Position ( m )

	0.0292
	0.698

	0.054
	0.6981

	0.0788
	0.698

	0.1036
	0.6981

	0.1284
	0.6985

	0.1532
	0.6985

	0.178
	0.6981

	0.2028
	0.6981

	0.2276
	0.6983

	0.2524
	0.6983

	0.2772
	0.6978

	0.302
	0.698

	0.3268
	0.6981

	0.3516
	0.6981

	0.3764
	0.6983

	0.4012
	0.6983

	0.426
	0.6985

	0.4508
	0.6987

	0.4756
	0.6971

	0.4995
	0.5427

	0.5247
	0.6011

	0.5491
	0.5344

	0.5736
	0.4804

	0.5981
	0.4331

	0.6226
	0.3923

	0.6473
	0.3646

	0.6719
	0.3387

	0.6966
	0.3191

	0.7213
	0.3056

	0.7461
	0.2982

	0.7709
	0.2967

	0.7957
	0.3034

	0.8206
	0.3137

	0.8455
	0.3311

	0.8704
	0.356

	0.8954
	0.3813

	0.9204
	0.4154

	0.9454
	0.4598

	0.9706
	0.5136

	0.9963
	0.6715

	1.0212
	0.6895

	1.046
	0.6968

	1.0708
	0.6999

	1.0956
	0.6995

	1.1204
	0.6994

	1.1452
	0.6971

	1.17
	0.6969

	1.1948
	0.6968

	1.2196
	0.6968

	1.2444
	0.6968

	1.2692
	0.6968

	1.294
	0.6969

	1.3188
	0.6971

	1.3436
	0.6973

	1.3684
	0.6973

	1.3932
	0.6969

	1.418
	0.6994

	1.4428
	0.6994

	1.4676
	0.6995

	1.4924
	0.6973

	1.5172
	0.6997

	1.542
	0.6997

	1.5668
	0.6997

	1.5916
	0.6999

	1.6164
	0.6999


Make a second plot of Position vs Time keeping only the parabolic part of the data. Title it. Label it. And Fit it to a polynomial of Order 2. 

Paste graph here.

The equation for the position of a “particle” experiencing a constant acceleration is 

[image: image1.png]y=yu+v0t+%at2





Use your results to determine the paremeters y0, v0 and a.  What are the units of each?

	
	Value from your graph
	Units

	y0
	
	

	v0
	
	

	a
	
	


